I'pammaTuka: 6.A: Names

LIJeCTo’ﬁ ypo'K 6.b: Dates

6.B: Short-Form Adjectives

Moésanka B AMépuky: YacTb Neépeas - [pammaTtnka

In addition to presenting a new grammar point (or two) in the second part of the story, we will also review several important
(and often confusing) topics that were covered last year. Once again, this is the perfect opportunity to really firm up your
knowledge.

6.A Asking / Stating Names

Recall that these constructions are quite idiomatic; you cannot just translate phrases like What’s your name? / My
name is Chris literally (and get a grammatical Russian sentence). Instead, you need to learn the various
“formulae” Russian uses to ask about and state someone’s name.

6.A.1 Asking Someone’s Name

The question consists of three elements:

1) Kak + 2) accusative pronoun or full noun + 3) 3oByT

What’s your / his / her name? (With pronoun)

ACC Pronoun

TEOS
ero
eé
Bac

Kak 30BYT?

In instances in which a full noun is used (e.g. his brother / that woman / your friend), don’t forget to put the noun
phrase into the accusative. (Students often make the mistake of leaving it in the nominative.) Also note the
difference in word order between questions with pronouns (in 2™ position preceding 30yT) and those with full
nouns (in 3™ position, following 30ByT):

What'’s your brother’s/her father’s/their daughter’s name? (With full noun)

Full Noun in ACC

TBOErO Opara?

BAIIly CTAPIIYIO CECTPY?
erd codaky?

Bamiero mpogéccopa?

Kax 30BYT
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6.A.2 Stating Someone’s Name
The statement also consists of three elements:

1) accusative pronoun or full noun + 2) 3oByT + 3) nominative of name
(Note that both the pronoun and the full noun are found in the same position, directly preceding 30ByT.)

My/his cousin’s/her/his sister’s name is...

Pronoun/Noun in ACC First Name in NOM
Memst Jlvza.
Moer6 Gpata Muma.
Ero I'prma.
Moro cTapIryio cecTpy 30BYT Jléna.
Eé Oms.
Ero cobaky Pexkc.
Sroro Haxdma Bopric Brikroposuy.

@ Form a question and answer:

Example: el (Muma) [ Kak mebsi 306ym?  Mensi 306ym Minwa.
1. om (Cepéxa) 2. Bam npogéccop (I1€rp [lerpoBua) 3. wux gous (JIfoba)
4. ona (OKanna) 5. 3TOT CTpAHHBIN MYyXYNHA (flma) 6. TBoi orér ([TaBen
JmuTtpueBuy)
7. Bam gsns (Iendamii 8. erod cobaka (bénka) 9. 3ra 6e3mapHas aktpuca (Pas)
Bopricosuu)
6.A.3 Inquiring Specifically About First Name (Patronymic / Last Name)

To inquire specifically about a person’s first name / patronymic / last name) use indeclinable kak + nominative
of the “name word” (ims1 / 6TuecTBO / hamiius):

What’s your / his cousin’s / her first name / patronymic / last name?

NOM of “Name Word”

Baue nma?
Kax €€ 0TyecTBO?
TBOS (haMuHs?

Don’t forget that full nouns seen below in brackets — as opposed to possessive pronouns — must appear in the
genitive following the “name word™:

uMs [TBoero nsinu|?
Kak OTuecTBO [e€ myxa]?
(hamumms [3Toit akTpurcki]?
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Normally, the question Kak eré / eé / Bame nma? is used when you already know a person’s last name. If you
know nothing about the person, Kak ero / eé / Bac 30ByT? is more appropriate.

The answer simply consists of the nominative of both the “name word” and the name:

NOM of “Name Word” and Name

Ero6 / E€ vims K)pa / VinHa.
Moé 6TuecTBO Bopricosuu / ITetpoBHAa.
Ddammusg Moero Isau Cunopos / ITyTus.

It is possible to inquire about both first name and patronymic in a single question:

Kax Baire nms-0tuectBo? What’s your first name and patronymic?

% MepeBennTe Ha PyCCKUIA:

1. What’s your (formal) patronymic? 2. What’s your aunt’s last name?
3. What’s your (formal) first name? 4. What’s Madonna’s last name?
5. Her patronymic is Vadimovna. 6. His last name is Pushkin.
| 6.6 Dates |
6.b.1 Expressing When Something Occurs: On a Certain Date

To say when an event occurs (occurred / will occur), use the neuter genitive of the ordinal number without any
preposition. The month appears (optionally) in the genitive. Notice (from the first example below) that there are
several possible English translations: * the preposition on; moving the date in front of the month, together with
the. Russian has just one possibility ©.

Omna yéxana TpéThero Mapra. She left March 3"/ on March 3/ the 3 of
March.

[yTuH poaiics ceapMOro oksops. (Ato npasna.) Putin was born (on) October 7™.

Mouapr ymep msitoro gexadps. (Ito mpasia.) Mozart died on the 5" of December.

Konuépt Oyner ABaanats mectoro. The concert will be on the 26™.

To question when something takes (took / will take) place, you can use either korga or kakéro umcaa — note that
this last phrase is in the genitive (the nominative of the noun is neuter yuco):

Korna / Kakoéro uncna on yéner? When (What day / On what date) is he leaving?

Koraa / Kak6ro uncia koHIépT? When (What day / On what date) is the concert?
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Our experience shows...

Students are tempted to use the preposition B + accusative to express the date. This makes sense, since that is
what is done with days of the week: Ona yéxasna B cy660Ty / msitHuny / ueTBépr. Note that this last phrase has
the same basic structure in English as the above examples with dates: She left (on) Saturday / March 6". Sorry,
but dates work differently in Russian than days.

% State when the event took (will take) place:

1. bops npuéxan B AMépuky (March 5) 2. Syény (January 30)

3. Ilymxwun pomuincs (June 17) 4. Omna mens 6pocmna (August 12)

5. MpmI nepeéxamu (May 4) 6. Kounépr 6511 (February 7)

7. Cunekrakib 0yaer (October 26) 8. Cemécrtp Haunnaercs (November 19)
6.5.2 Asking / Stating Today’s (Yesterday’s / Tomorrow’s) Date

To report today’s (yesterday’s / tomorrow’s) date, use the neuter nominative of the ordinal number. The month
appears (optionally) in the genitive. The questions are: Kakde ceroanst (B4epa onL10/3aBTpa [0y1eT]) yncio?

Kaxkoe ceroanas uncid? What's today’s date?
Ceroaus msitoe (Mapra). Today is the 5" (of March).
Kakoe Buepa 6pu10 9ncino? What was yesterday’s date?
Buepa Op110 népBoe anpés. Yesterday was April I".
Kakoe 3aBTpa (0yner) aucio? What’s tomorrow’s date (going to be)?
3asrpa Oyner TpuaLATOC. Tomorrow will be the 30",
@ Form a question and answer:
1. today/June 14 2. yesterday / August 23 3. tomorrow / November 2
4. yesterday / May 6 5. today / September 22 6. tomorrow / January 1
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6.B Short-Form Adjectives

6.B.1

pammaTuka

Forming Short-Form Adjectives

The endings for short-form adjectives, which are attached to the adjectival stem, are exactly the same as those for
nominative nouns (see chart below). To get an adjective’s stem, take the dictionary form and remove the ending

(-bIif, -mii, -0¥): TIIyTI-BIit > TIyN-; XOpOUI-Uii > X0opouI-; 1opor-6i > nopor-. (More on stress below).

Gender/# | Masculine Neuter Feminine | Plural
; I
Ending %) {O} {A} : {1
KpacuB KpachBo KpacuBa : KPacHBBI
TIyT TIIYTIO riyna | DIIYTIBI
X0poIn XOpOomIo XOpOIIa I xopomi
Examples | xpémok (0) KPEIKO KpernKa : KPETKH
3011 (0) 3J10 351a | 3761
UHTEpECEH (€) HWHTEPECHO WHTEpECHA : UHTEPECHBI
6naronapes (e) 6marogapHo Omarogapua | GmaromapHb

Some notes on the formation of short-form adjectives:

@ Short-form adjectives (for reasons we’ll discuss below) appear only in the nominative. They do not
decline for case.

o There are no soft short-form adjectives. As a result: 1) all feminine forms end in -a (never-s); 2) only
unstressed neuter forms in a husher have -e (there are very few of these — most short-form neuter adjectives in
a husher end in stressed -0); 3) plural forms have -bI, unless the stem ends in an unpaired consonant, in which
case the spelling rules covered in Lesson 2 require -m.

e Short-form adjectives have stress patterns similar to past tense verbs. Stress can be either: 1) always on the
stem (KpacuB, KpachBa, KpacluBO, KpacuBHI — similar to Buaen, BUaena, BUIeno, Buaenn); 2) always on the
ending (xopor, Xopoia, xopoInd, Xxopomr# — similar to Mor, Moria, Morio, Mmorin); 3) shifting to the ending
only for the feminine (TJyn, TIyna, riaymno, DIYNbsl — similar to mwI, TUIT4, IO, TN ).

Fixed Stress Shifting Stress

Stem Stress End Stress

KpacHuB, KpachBa, KpaclBO, KPaCHBBI | XOpOII, XOPOII4, XOPOILIO, XOPOIIH TITYTI, TIIYTI4, TIYIO, TITYTIbL

We will indicate shifting stress in short-from adjectives with the same ~ used for past tense verbs: ryr.

e Some masculine forms contain a cluster buster, whlch>15 sometimes replaced by soft-sign in the other forms.
The cluster buster vowel is (almost always) {O}: cuién, cHIbHA, CHIBHO, CHIBHDI, KPEIOK, KPelK4,
Kpénko, kpénku. (Recall that even if the vowel is unstressed e, this may very well be a “hidden” basic {O}.)
We’ll always put the cluster buster vowel in parenthases next to the short-form adjective: 6;1aronapen (e).
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e Many adjectives do not have a short-form. The explanation as to why is a bit involved, but here’s a good test:
Only adjectives that can logically have a comparative form can also have a short-form. For example, you

really cannot say: “This book is more last/final than that one.” Therefore, you can conclude that mocéxuuii
does not have a short-form.

o There is just one adjective (pax, paxa, pano, paabl) that appears only in the short-form; no long-form

(panmwii, panas, etc.) exists. However, as we’ll see below, a number of quite common adjectives are found
almost exclusively in the short-form (with a specific meaning).

6.B.2 Usage of Short-Form Adjectives: In Predicate Only

Short-form adjectives can only appear in the predicate, i.e., after the verb be (either overt or implied). They
never precede the noun, and, as mentioned above, are fixed in the nominative:

Ona kpaciga. She is attractive.
CnaBa TOBOJBHO KPACHB. Slava is rather attractive.
S 6onbHA. I'm (female) sick.
Ero6 pomirenu Opu1M OueHb OOTATHI. His parents were very rich.
OH yMEH. He’s smart.
OHM CTANHN JICHUBBL. They became/started to be lazy.
6.B.2a Use Unchanging Taxk (Instead of Declinable Taxoii) With SF Adjectives

Instead of the modifier Takoi, -as, -0e, -ne (OHA Takue JeHNBBIE), use the unchanging Tak with short-form
adjectives:

OHH TaK JICHUBBI! They are so lazy!
OHA Tak CHIIbHA! She is so strong!
OH Tak riyn! He’s so stupid!
Buno 31eck Tak noporo! The wine here is so expensive.
MBI Tak 34HATHI! We'’re so busy!
6.B.3 Choosing Between LF and SF Adjectives (Only in Predicate Position)

Keep in mind that when an adjective precedes the noun (3e1éHas maniHa, 60JbIIOH TOM, JOPOTHE TOTAPKH)
only the long form is possible. It is only in predicate position that both the long form and short form may be
found.

So, what is the difference between Mama roaégnas (long form) and Mama rosoana (short form)? Well, we
hate to wimp out, but this is a rather complicated question. To some extent, you’re almost always “safe” to use
the long form, which is what we recommend. Many native speakers consider the short form somewhat “bookish”.

Having said that, there are a number of short adjectives that are commonly used. Here are the ones we saw last
year (and in Part 1 of the story):
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Commonly Used Short-Form Adjectives

pan (-a, -o, -51) (No long form exists) happy, glad
rotos (-a, -0, -bI) ready
OTKPBIT (-a, -0, -bI) open
3aKpBIT (-2, -0, -bl) closed

06meH (e) (0oybHA, -HBI) (note strange stress!) | sick

Osarogapes (e) (6iaronapsa, -o, -bl) grateful

ChIT (-4, -0, -bI) full (from eating)

3aHAT (-a, -0, -bI) (3aHATA is possible) busy, occupied

cB000IcH (€) (cBoOOIHA, ,-0, -bI) free (not busy); unoccupied

JoBOJIeH (€) (oBONIbHA, -0, -bl) + instrumental | satisfied with

> ., .
mpas (-4, -0, -bl) right, correct

@ MepeBeanTe Ha PYCCKUIA:

1. Masha, are you ready? 2. My aunt is always right.

3. Vadik, are you free tonight? 4. Tomorrow they will be very busy.

5. I’'m (female) very grateful to your parents. 6. I’'m (male) glad that Nina dumped Gleb.
7. Is the library open? 8. The store is already closed.

6.I'.2 Short-Form Adjectives in {O}

Short-adjectives in {O} are quite often found in so-called “impersonal expressions” (the first two examples
below) and “dative of experience” constructions (the last four examples).

31ech OUEeHb XOPOIIO/KPacHBO. It’s very nice / beautiful here.

CeroHs1 XOI0IHO/KAPKO. It’s cold / hot today.

MHe CKy4HO. I'm bored.

Hawm unTepécHo. 1t’s interesting for us.

Emy Bcé poBHO. He doesn’t care. (It’s all the same to him.)
Eit mnoxo. She’s not feeling well.

g@ MepeBeanTe Ha pycckuid. (A mix of various short-form adjectives)

1. It’s cramped here. 2. You (masc.) are so lazy!

3. He’s grateful to us for the ticket. 4. It’s so beautiful in Trenton!
5. He’ssick. 6. Idon’t feel well.

7. They’re so bored. 8. Verais so busy!

9. Are you (fem.) full? 10. It’s hot today.
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@ g YnpaxHéHune 1 Answer the questions about the story using complete sentences

1. TJIABHBIN TepOii main character

10.
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2<  YnpaxHéHue 2 [lepeseanTe Ha pycCKuii

1. I don’t want to live with two guys. It will be too crowded (for us).

2. My (female) cousin often travels abroad.

3. What floor do you live on? (Translate question and give answer.)
4.+ Who paid for dinner? — Some ignorant man by the name of Vadik.

5. I can’t for the life of me figure out why they moved from Paris to Trenton.

6. I’m grateful to you for everything!
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